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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

AN T T . —

IR A I aaaanbtad dax A AL AT ATy =

300 V-V d-\’ ‘V \'4 v T —
200 ,

100

0 25 50 75 100 125 150 175
d
30.0 : M I T ]
1
27.5 : [A\/AV‘\/ v_\v\’\/ ——  Topt o
1
25.0 : \’\,—
] \\J\
22.5 ' ™\
A —=
ANn /A A

= AW A
|

12.5
0 25 50 75 100 125 150 175
d
5 —
1 ———  RHopt
80 i |
1
" ﬂ i WAL
60 1A : \ s
W R

NI%

0 75 100 125 150 175

|
—— ETcl

5
i ~ AN A~ i
! /’WM optETcl
- N,

Rl 5

2000

2.0
1.5 /
1.0

0.5 ‘-__—”’—_”,,r

0 25 50 75 100 125 150 175

I
I
I
2.5 1
I
I
! ™\
1
I
I

optEtRate
1.2

1:(, ATR TV A AT AT e

1

\ 1

1

1

0.6 |

|

1

0.4 V '

. H ' :

1

0.2 !
0 25 50 75 100 125 150 175



250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
A i
|
1
A
Y 800000800
\ ¢ "‘ii‘.' a o ln o o
/ @ 1
N [N\ A frepriy | _
¢ Vv-eo-oo-od : —o—  setVI_ETcl
‘o S 0F ! —0—  setVl_fgRec |
WW’ y | —8—  setVI_WN
Lo 0<0—o | —8—  siSetVl
I 1 I ]
0 10 20 30 40 50



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11_0, Day=41 (2025-05-13)
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ET (ml/hr/plant)

P3-11_0, Day=40 (2025-05-12)
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P3-11
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16:30 288 150.0 S| Ri%e16:30 Bzl (REAERSR)
=23t+]2880.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (187.0 :

ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS
AEREMEC (2650.0) 5i%EEC (2000.0) REL KA, /T




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=39 (2025-05-11)
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P3-11
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14:20 288 150.0 el Rige14:20 Ba (REAERHSE)
15:35 288 150.0 (2 =| 1BRi%e15:35 Bz (kAFERKSE)
23t]2016.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (187.0 :

ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS
AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T




P3-11_0, Day=38 (2025-05-10)
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